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. The image formed by a concave lens is always
(a) virtual and erect (b) real and erect
(c) virtual and inverted (d) real and inverted.
. An object is kept at 60 cm in front of a convex lens. Its real image is formed at 20 cm from the lens.
Find the focal length and power of the lens. o
ANS:15¢m,6.66D |
. The focal length of a convex lens is 20 cm. If an object of height 4 cm is placed at 30 cm from the l
lens, find the position, nature and size of the image. R W\
ANS:60cm,8cm =

. The focal length of a convex lens is 20 cm. If an object of height 2 cm is placed at 30 cm from the
lens, Find the magnification produced and height of the image.
ANS: -2, -4cm |
. When a pin of height 4 cm is fixed at 10 cm from a convex lens, the height of the virtual image
formed is 16 cm. Find the focal length of the lens.
ANS: 13.33 cm

. A spherical lens is used to obtain an image on a screen. The size of the image is four times and size
of the object. What is the type of lens and at what distance is the screen placed from the lens? ATy
ANS: 5f R
)

. An object of height 5 cm is held 20 cm away from a converging lens of focal length 10 cm. Find the %
position, nature and size of the image formed.

ANS: 20cm, -5cm
. An object kept 60 cm from a lens gives a virtual image 20 cm in front of the lens. What is the focal ~ §

length and power of the lens? Is it is converging lens or diverging lens? )
ANS: -30cm [\5%
. The power of a concave lens is -2.5 dioptres. Find it focal length.

. Three lenses of focal length 20 cm each are kept in contact with each other . Find the power of their
combination.




